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BACHELOR OF SCIENCE (B. Sc.)

Term-End Examination

December, 2020

LSE-03 : LIFE SCIENCES : GENETICS

Time : 2 Hours Maximum Marks : 50

Note : Question No. 1 is compulsory. Attempt any

four questions from question no. 2 to 7.

1.

Lot-I

(a) Fill in the blanks with appropriate words

given in parentheses : 5

(1) Modern genetics originated with the
work of .............. .

(Gregor Mendel/William Bateson)

(1) The form of gene which occurs in an

individual in nature is called the

.............. (mutant/wild) type.

(111) The .............. (phenotype/genotype) 1is
the term wused to specify the

appearance of an individual.

P.T.O.



[2] LSE-03

av) In ... (dihybrid/monohybrid)
crosses only one pair of contrasting or

alternative trait is involved.

(v) Mendel proposed his .............. (first/
second) law known as the law of

segregation.
(b) Match the following : 5
Column A Column B

(1) Codominance (1) Interaction of non-

allelic genes

(1) Agglutination (2) Gene has multiple

action

(111) Epistasis (3) Without a true
nucleus

(iv) Pleiotropy (4) Clumping of cells

(v) Prokaryotes (5) Both alleles of a
pair fully expressed

in a heterozygote

Explain, how environment affects the

expression of genes in organisms. 10
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Describe the molecular organisation of

chromosomes. 10
(a) Discuss the life cycle of bacteriophages. 6
(b) Explain the replica plating technique for

studying the bacterial genetic system. 4
(a) Explain the molecular organisation,

functioning and genetic implications of

overlapping genes. 5
(b) Describe the tryptophan biosynthesis. 5
(a) Discuss the uses of mutations. 5
(b) Explain the process of maternal-foetal

incompatibility and the method of its

prevention. 5

Describe the Hardy-Weinberg’s law and justify

the relationship between allelic and genotypic

frequencies by applying the binomial equation.

10
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